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o TG A FT @ & 5T FIT9H 7 FRa g97 32 2

Please make sure that the printed question paper are contains
32 questions.

o Ry § qRT Er @ Gl 3 78 @ q%T qur 9 # 8§ JayRaw & e
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

»  FUA TFT H F TG JE BT 3 B, IRT B FHE AT 7@

Before beginning to answer a question, its Serial Number must be written.

» GTR-gReer @ T 7 @il g/ 9 T 881

Don’t leave blank page/pages in your answer-book.

o FACGRGHE F SiiET Fg o Sic T8 B o sTaRamager & E it fiar
gav 7 Piel

Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o gharll orgar W To FeT-UH T SV [E
Candidates must write their Roll Number on the question paper.

3503/(Set : D) P.T.O.



(2) 3503/(Set : D)

* YT e & FAT @7 @ 43 B FT @ & ge79F g 7 78 B, qfar @
GUUT 5 T 7 g 4 @ar 7& Rear

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

GrE [3dr :

General Instruction :

()

(i)

(iii)

T geT cfar B

All questions are compulsory.

TIT I A gT 32 WA AN aEl o § g ac | E
This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

&S of : 87 @5 H1 § 16 7% T 16 497 B, g% 97 1 o7 & 81
Section A : There are 16 questions from 1 to 16, each of 1 mark.
&8 §: 57 @% 717 §21 0F 75 497 2, q9% 97 3 3% T 2
Section B : There are 5 questions from 17 to 21, each of 3 marks.
&S § : 57 @F T 22 7 27 TF TT 6 A7 £, q9F 497 & FF 7 2
Section C : There are 6 questions from 22 to 27, each of 4 marks.
&S & 57 @5 §28 7 32 7% F7T 5 T 2, g% 49T B HF W 2
Section D : There are 5 questions from 28 to 32, each of 5 marks.

&g q 7 q ye 7 oreiafis fwey kT 73 3 ggF @ oF 597 F g 8

Section D contains two questions where internal choice have been
provided. You have to choose one of them.

s - A
SECTION-A

1. 3 g R [LCM X HCF & a1s Tt & &, @ I7H e & : 1

(A)
(€)

g>=l (B) g=<I
gl (D) 99 9 #5g &
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If g and [ are LCM and HCF of two positive integers, then the relation

will be :
(A) g=1 (B) g<lI
(C) g=1 (D) None of these
2. &9 @ - 9895 (Polynomial) 2?7 1
(A) 1++/x (B) x2+1
1 &
(C) P (D) —
3 X1 x3
Which one is polynomial ?
(A) 1++/x (B) x?+1
1 1
(G, —f— (D) —=
% %% 41 X3
8. WHEN ax+by+c; =0 AR a,x+by+c,=0 H R EL#&EI—, i
az by
frforfian & @ @91 g ® 7 1
(A) THEE @ (B) whresfa Y@
(C) Hurd @ (D) 374 4 #ig &
If in equations a;x +bjy +c¢; = 0 and arx+byy+cecg =0, = I;ﬂ’ then
Ho &
which of the following is true ?
(A) Parallel lines (B) Intersecting lines
(C) Coincident lines (D) None of these
4. T q -1 A P. i B 7 1
2L T L C— (B 88,5 57 ...
() 1,8, 32, 2%, e D) &2 30490 5.
Which one is an A. P. series ?
(a)] af@?, ol .... (B 18, 3f5~, 77 L...
il 188 3%, 22, ...... (D) a 24, 3a, 44, ......
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5. A.P.2, 7,12, .... % 204l 9§ B : 1
(A) —47 (B) 47
ic) PEE (D) 97

InanA P. 2,7, 12, .... 20th term is :

6. Bl & g 7 § B g wAeq 7@ 2 7 1

(A)
(B)
(C)
2.7 3 4 &
my M E F
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Which one pair of the triangles is not similar triangles ?

(A) o
:
A

(B) N
60°
BC

A
e

B —rs

L

(D)\ Mz T8

7. @ THeU B @ @ Titawel @ A9 4 : 9 B, @ Bl @ auwal @

I B 1
(A) 2:3 (B) 4:9
(C) 16:81 (D) 81:16
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Ratio of corresponding median of two similar triangles are 4 : 9. Then areas
of these triangles are in the ratio :

(A) 2:3 (B) 4:9
(C) 16: 81 (D) 81:16

8. 39 » S Rum farg & 99 v Pt wet Yad dfe @ B 7 1
(A) 1 (B) 2
(C) omiiffd ¥4 § eM& (D) &0 O HE &l

How many tangents are drawn from a point on the circle ?

(A) 1 (B) 2
(C) Infinitely many (D) None of these

9. TF g0 i oiftes § oftes fbaelt g Tt Y@nd & gt § 7 1
(4) 1 (B) 2
(C)) 3 (D) & q #E T
How many parallel tangents are“arawn on a circle at the most ?
(A) 1 (B) 2
(C) B (D) None of these

10. fag P-3, 4) Fr =guia & Reag & 7 1

(A) wuH (B) fadia
(©) T (D) =gd
Point P(-3, —4) lies in which quadrant ?
(A) First (B) Second
(C) Third (D) Fourth
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11. 39 fag & fadeis st fegett (-1, 7) X (4, -3) it BE™ a Y@mEs & 2: 3

% FgIT ¥ R war ® 1
(A) (1, 3) (B) (-1, 3)
'[C] [ls _3) [D) {_13 _3)

Coordinates of point which divide the line joining two points (-1, 7) and
(4, =3) in the ratio 2 : 3 are :

(A) (1, 3) (B) (-1, 3)
[C) RS —3) (I 1, -3
12. soEC & B9 &9 g ® a1 o 1

“cosec O FH HH > 1 AT < -1 Brar &7

State whether the following statement is true or false:

"The value of cosec 8 lies > 1 and <-1"

13. S0BC 6 1 9 77 B T I 1
“sine—%%ﬁ!ﬁﬂ%ﬂie%f@m”

State whether the following statement is true or false :

"sin B = g for some angle 6"

14. 90 ra@ g0 & 90 HoGEE B a=% @ B0 PO B, B

(A) e X 2nr (B) -Lx r>
180 180

(C) = | X 21r (D) 1 B X 2712
360 720

Area of a sector of angle P° of a circle with radius r will be :
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a) £ xomr B) - xnr
180 180
(C) £ X 21r (D) £ x 272
360 720
15. U A Ht Browr o9 B, o SEP ST B e B 1
(A) 2nr? (B) nr?
(C) | 2mr (D) 2rr3
Base area of hemisphere having base radius r cm will be :
(A) 2nr? (B) nre
(C) 2nr (D) onrs

16. 9™t # UH S B4 9T, &A1 7 9 & Fifkemar 2Ff

ws: ®1 (@©o M2
Probability of getting 7 in a single throw of a die will be :
Wz ®1 ©o /o2
gre - §
SECTION-B
17. Rrm ifoe & V2w safdy der 8 3

Prove that \,I'E is an irrational number.
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19.

20.

21.

(9) 3503/(Set : D)
T FEET SgUE SR WG s R B AT o w9 5 AR 3 ¥ 3

Find a quadratic polynomial with the given number as the sum and
product of its zeroes respectively are 5 and 3.

uF del it S ox 5 R et &8 2 6 o e R dEr @ 2.5 | &
g W B o gEw S a9 @ 6 A A FAE W S o fasd aw wa
21 Ol o T=1E I B 3

A ladder is placed against a wall such that its foot is at a distance of
2.5 m from the wall and its top reaches a window 6 m above the

ground. Find the length of the ladder.

cot 85° + cos 75° & 0° R 17°% &g 3 & 3 Fpofdg squdl $ wi §
T HifoTT| 3

Express cot 85° + cos 73° in terms of trigonometric ratios of angles

between 0° and 17°.

T gAHL @ H 10 Bo Hfr & Hex @ W § JAE F @= 1,540 To B, @

a3 B e [n:%]

3

Cost of ploughing at the rate of Rs. 10 per m? is Rs. 1,540. Find the
radius of the circular field.
(=7
7
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q's - 9
SECTION -C
22, f=iciE B H & B 4
N2x+B3y=0
w@x—v‘gy=0
Solve the following equations :
V2x+3y=0
V3x-8y=0

23. wavs iy & fema wieer V2x? +7x+45V2 =0 B 9@ W@ dibw 4

Find the root of the quadratic equation by factorization method
\Exg+7x+5«f§= &

24, @ 3%l gl e et 4 3§ s § 7 4

How many two-digit numbers are.divisible by 4 ?

25. 5 O Bew & ga @t 8 T @l U S| PO R P ARQ U Wsl 1@
TR 0% g TR Sess B 81 TPH T8 51 Hivg, Ik 39 & 3% O 3
4

PQ is a chord of length 8 cm of a circle of radius 5 cm. Tangents at P
and Q intersect at a point T. Find the length TP, if O is the centre of a
circle.

26. 9 & 52 Ul B HW q@ q B T 0 TGS § q 0 G M e 2
€T P ST AT U W A SIS T P 4

One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting the queen of diamonds.
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27. 30 B W F%d T g s 9 (-1.5, 3), (6, -2) 3R (-3, 4) F 4

Find the area of a triangle whose vertices are (1.5, 3), (6, -2) and (-3,
4).
s - ©
SECTION-D

28, faa @ 242 +hkx+3=0 & k & 99 70 HoQ & @H A TR qq A
5

Find the value of k for the quadratic equation 2x% +kx+3=0 so that
they have two equal roots.

29, TG sec” O —tan>0 =1 & FANT FH, fE g F : 5

sinB—-cosB+1
sin6+cosB-1

=secB+tan

Prove that 5}11 O cogp + § =secO+tanB, using the identity
sinB+cosb-1

seczﬂ—tanzﬂzl.

YAl
OR

1.5 o @& UF oM O oA @ 28.5 W &t g W B SEey wr@t § e &
fS/ET &1 I=ET BT 45° 31 R @ SEE saEw

A man 1.5 m tall is 28.5 m away from a Chimney. The angle of
elevation of the top of the Chimney from her eyes is 45°. What is the
height of the Chimney ?
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30. uF s ABC a9igu foH BC = 7 @I, 4B = 45°, ZA = 105° & W @&

mﬁgmﬁmaﬁﬁqﬁﬂﬂ%wﬁMBcﬁWwﬁﬂ%gﬁﬁlm
1 afferer +ff dift 5

Draw a triangle ABC with side BC = 7 cm, £ZB = 45°, ZA = 105°,

then construct a triangle whose sides are % times the corresponding

sides of AABC. Give the justification of the construction also.

31. F: 6 W, 8 Wi &R 10 Tt Frwstt at oy # dW S/ Tl B oA @
ST B el S99 T 81 59 S B ST S S5

Metallic spheres of radii 6 cm, 8 cm and 10 cm, respectively are melted

to form a single solid sphere. Find the radius of the resulting sphere.

32.%%@@@%%30%%%@m%|mﬁﬁﬂm
AT 5T PITT : 5

A (s )| 40-45|45-50| 50-55|55-60 | 60-65 | 65-70 |70-75

feremfRrt =t 2 3 8 6 6 3 2
e

The distribution below gives the weights of 30 students of a class. Find
the median weight of the students :

Weight (in kg)|40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 |70-75

Number of 2 3 8 6 6 o 2

Students
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e

OR

fefefad areoft 35 FPRT @t A &X (sfded #) gfdt B A @R ) oFw
T :

T <X (% #)| 45-55 | 55-65 | 65-75 | 75-85 | 85-95

TRE F FE 3 10 11 8 3

The following table gives the literacy rate (in percentage) of 35
cities. Find the mean literacy rate :

Literacy rate (in %) |45-55| 55-65 | 65-75 | 75-85 | 85-95

Number of cities 3 10 11 8 3
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